50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 1SEC34
Third Semester B.E. Degree Examinaz tlon, Dec.2018/Jan.2019
Network Analy5|s |
Time: 3 hrs. ax. Marks: 80
Note: Answer any@IV%%full questions, choosmg
ONE fulflfﬁ%stlon from each module.
@;%% odule-1
1 a. Reduce the network shown m’”*?& 1(a) to a single voltage ;ource in series with a resistance
sformations. (08 Marks)

using source shift and soq%:e;r

ﬁ@%

2 a. Find the power delivered by th endent voltage soutce in the circuit shown in Fig.Q2(a)
by Mgsﬁ%!3 cglrrent method. Mi@%g %@%’% (06 Marks)

b. Define supe esh and super nodeff} (02 Marks)
€. Use the node-voltage method t§ find the power developed by the 20V source in the circuit
shown in Fig.Q2(c). (08 Marks)

Fig.Q2(c)
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Module-2 '}
a. Use superposition theorem to find Vy in the circu%gha%ﬁ%n Fig.Q3(a). (08 Marks)
3:%“% ,\_v
g * .
N vhes B8 Vel
a @ i, y
NFi ’
. Fig.Q3(a)
b. (08 Marks)
OR 73
a. State and prove Theveninis theorem. A (06 Marks)

b. Find the Norton’s equivalenttircuit across AB ten%i %@‘for the network shown in Fig.Q4(b)
and hence determine C%‘rﬁ% through 5Q resistor. ~ + (06 Marks)

%
D" FigQit) Q¥

c. Find the value of Z; for which Maximum Power-tra gier occurs in &%{“’e@ circuit shown in

®7y 7 - (04 Marks)

(08 Marks)

. : & b b Fig.QS(a)
b. In the circuit shown n %rg, 5(b), the capacitor C; is charged to a voltage Vo at t =0, the
switch is closed. Solvesor the charge as a function of time. (08 Marks)

-~ ‘ <=0 R _L

Fig.Q5(b)
20f3
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6 a. State and prove the following : i) Initial value theorem ﬁ}'ﬁmal value theorem. (08 Marks)
b. For the waveform shown in Fig.Q6(b), the equtiﬁgofﬁ‘the waveforms is Sin(t) from 0 to T,
and —sin(t) from & to 27, show that the Laplaced; 1sform of'this waveform is :

1
F(s) = 5 cot h("?s) (08 Marks)
s +1
w%;v@*
7 a. Define the following tetms : .
i) Resonance i) BandWwidth. P (02 Marks)
b. Prove that fo %flff where f; and f; ag&%two half power frequencies of a resonant
7 5 L " % ‘@@»
circuits. é - (06 Marks)

C. A series Bé%gircuit has R = 2Q, L = 2ymH and C = 10pf calculate Q—factor, bandwidth,

Resonq;\ffg%quency and half powerdrequencies f; and f5. (08 Marks
2 7 or S
8 a. Show that a two-branch paﬁgglleli&circuit is resonant 4¢.al] frequencies if Ry /: Re= \/% :
Q> 4 € ¥
%%% har. e (08 Marks)
b. which the circuit glv%r@g ig.Q8(b) resonates at w = 5000 r/sec.
e (S (08 Marks)
wf‘; o éﬁ%b' -3 <
Q" Bt J
N (N J Fig.Q8(b) @
g?ffﬁi? £5 %’ P
g b % ‘% ) i
9 a. gExpress Z —parameters %éltg?’ms of Y-para& TS, (08 Marks)
lgwﬂ Obtain ABCD parf%ﬂers interms of impedance parameters (Z) and hence show that
"WwAD-BC =1. v V' (08 Marks)

), oY OR
10 a twark shown in Fig.Ql%a%a), contains an voltage controlled source and current
controlled source, for the emeﬁ'ial values specified, determine Z and Y parameters. (08 Marks)
+ = "E:
T 2.5 T
W Vy
l 3V1 51, s5h l
o - : o - O - . — -~
e Fig.Q10(a) Fig.Q10(b)
b. Determidetransmission parameters for the network shown in Fig.Q10(b). (08 Marks)
4'ﬂm x&; % %k % % %
30f3




